TWO-WHEELER MECHANISM
gufgan =itk

( Theory )
(713)
Time : 2 Hours | [ Maximum Marks : 30
qu ;2 " | [ quifes : 30
Note :  All questions are compulsory and carry marks as indicated against each

question.
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1. Fill in the blanks with suitable words/options given in the brackets and rewrite
the sentences in the answer-book : 1x10=10

gl § T30 T Feal § § UG Weal /fohedi wi < A g ek Tl S gfd L ud A
! g IR-Yfeden ¥ ford ¢

(a) —— can measure resistance.

( Ammeter, Voltmeter, Multimeter )

— gfqQy o 9 S Gl 2
( Ty, diceHier, AR )

(b)  Unit of measurement of resistance is

( volt, ampere, ohm )

gfeier o "o i 3R —— 2|
( e, TfFRR, 3TW )

(c) —— stroke is not present in a 2-stroke engine.

( Expansion, Compression, Exhaust )
2T 5 H —— EIeh S{aTEd =i el |
( THEUYE, HIFIRH, T )
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(d)

(9)

A heavy-rimmed wheel which is commonly bolted to the crankshaft in
order to minimize variations in engine speed is called —.

( main bearing, crank, flywheel, gearbox )

3o ot ifd # fafaedr 1 0 w0 % o Fhiwe ¥ S S ae IRl g Tl uted
I —— HeT STl 2

( B forafien, shep, wetrsgier, et )

Battery test is performed to check —.

( specific gravity of the electrolyte, open-circuit voltage,
specific gravity of the electrolyte and open-circuit voltage, amperage )

et Tiegur —— St St o forg foman ST g

( oFIeTEe 1 FARW e, ST wihe dleed], oAt F1 AR e SR S
Yiche dicedr, TS )

If an engine makes clattering noise during acceleration and deceleration,
then the most likely cause of this problem is —.

( worn main bearings, loose connecting rod bearings, sticking
valve lifters, worn push rods )

Ife TF 399 A TG AT TH o THY TSEEES H IR KAl 7, dl TH GEET H
FforehTeTe: RN BT @ — — |

( o forafar o1 o s, T foafan o1 e weem, ared forget &1 femes,

g1 e M o ST )

When a piston is positioned at BDC on the suction stroke and the valve
timing is correct —.

( intake valve should be opened, exhaust valve should be opened,
intake valve should be opened, both valves should be closed )

S& T w1 geH i W BDC 9 I ol STaT & T aTed Tel §HT T R Sl
g, a ——1|

( 3% dTea =1 quld: el BT SR, THE dled i Gl TR i 1 ferfd

BT A1ET, 32 dTed ol Gl YR i ot fefd § gF1 =fen, aFt areal

1 &3 B 1T )
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(h) When a piston is positioned at BDC on the expansion stroke and the valve
timing is correct —.

( intake valve should be wide opened, exhaust valve should be
opened, intake valve should be opened, both valves
should be closed )

S T il TaieE ek W BDC ¥ I FRAT ST € UF dTed Hel 99T W AR
ST 8, & —— |

( 32 aTed I YUTd: Goll BT ST1EU, SaTiee dTed i Goll BHT ST, 32 dTed i
g IRy e Y fefa § @ =nfen, T aredt i e 2 e )

()  When a piston is positioned at TDC on the exhaust stroke and the valve
timing is correct —.

( intake valve should be opened, exhaust valve should be opened,

intake valve should be opened, both valves should be closed )

S& fieed =l gaee Tieh W TDC ¥ I TR STl § U3 dicd 9l 999 9 SR S
g, & —1|

( 3% aTcd I GAT BT AMEY, FAITES aied w1 Gl BT IT1e, 3% dled ol G
YR w6t fedfa #§ g =nfen, It aredt @ dg g =R )

() A device through which incoming air is screened in before mixing with
fuel is called —.

( air screw, float pin, filter, butterfly )

T IR ook HTeH | ofial TE R aTelt 9 $Ud § Wi 8 ok 98 S AT
8, —— e 8l

( TR T, TR U, fheet, St )

2. Indicate in your answer-book whether the following statements are True or
False : 1x10=10

frefafad wom oo € o1 srae, o sw-giee § fod

() There must be some clearance in the engine valve so that, as the engine
warms up and the parts expand, the valves can still close completely.

T5H dted § frerret it srazen sfiart 7, a1fer 35 o T 29 W S 35k ISl ot ST,
a9 oft area gof ®9 § 5% & T |
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(b) Proper adjustment allows precise timing of the opening and closing of the
valve in relation to engine rotation.
T THRISH § §99 o =8 o STIUR dlcd el 999 T gadT 3R 58 g ¢ |

(c) It is the best to disconnect only the ground connection of the battery
when charging the battery in the vehicle.
e B S8 Al A THY hdd S h URSE FARM I Ifesd A @ gow s
&Il 2 |

(d) In most of the typical automotive electrical system, there is little voltage,
but much current available.
AW ATHIRT oEffash JuIell § 9gd o dlcedl Bl §, foheq Af4eh 9w 3ucrsy
Bt B

(e) It is normal for gearbox oil to lose its red color.
fierdia e & &Te T 1 38 STHT Ueh EaTferes oid 2|

(f) Befor installing new ring, the ring ridge should be removed.
7% T01 1 @ § wed o1 i &l ger o =nfe

(g9 Top most rings mounted on the piston are called oil rings.
et vt TE gl T arefl i m sfre i wed 2

(h) Oil pan gaskets or rocker arm cover gaskets are usually made of cork,
rubber, or a combination of rubber and cork or rubber and silicon.
T U Trehe 3190a T A ol TTEhe IHTIA: shieh, (o, 3AYE] & 3 i o
TASH 27T WX e ffereta @ o1 ST 2

()  Most valve seats have an angle of 60°.
Afereier aTed Hiet M I 60° 2aT 2

()  Gaskets are used to seal minor variations between two flat surfaces.
ke o1 T &1 |UTE dcll o sid o A Sl die i o fore fomm Sram 2
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3. Answer the following questions briefly : 2x5=10

ffeTiiad et o 3T |49 6 3
(@) Give the vacuum test procedure.

IR T Tgd T AU

(b) What care would you take when installing new piston rings?

T2 foreea i & & 99 219 - graer stan ?

(c) What is the risk if the engine valve timing is improper?

T ATed 2T o el 9§ F @A g 87

(d) What is the effect of too little engine valve clearance/adjustment?

I T5H dledl [Faig /THEISH 1 #1999 I8dl 27

(e) What is the effect of too large engine valve clearance/adjustment?

SATTF 9 dled [FATH /THEISH 1 FIT YT USar 27

* k ok
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